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1.  On a broiler breeder pullet and cockerel farm, birds are raised from hatchlings to approximately __ weeks of age and will replace older breeder flocks.

a. 8


b. 12 


c. 16 

 
d. 20 

2. During embryogenesis, this temporary membrane is attached to the inside f the shell and helps exchange oxygen and carbon dioxide, acts as a reservoir to collect solid wastes, and removes calcium from the shell to be used by the embryo to form bones.

a. Chorioallantoic 

b. Chorion

c. Yolk sac

d. Amnion

3. When raising market turkeys, a tom marketed at 21 weeks of age usually weighs more than __ pounds.

a. 16


b. 20


c. 30


d. 40
4. The body temperature of poultry ranges between __ and __ °F.

a. 37 and 39

b. 40 and 41 

c. 102 and 104

d. 105 and 107 

5. In 2005, annual per capita consumption of poultry was ______.

a. 83 lbs

b. 95 lbs

c. 103 lbs

d. 124 lbs

6. What percentage of all table eggs are commercially produced by caged hens in large houses.  

a. 60% 

b. 70 %

c. 80%

d. 90%
7. The __ secretes the hormone insulin which regulates sugar metabolism.

a. Pancreas

b. Ovary

c. Adrenals

d. Liver

8. Commercial turkey operations produce young turkeys that require approximately _____ pounds of feed per pound of body weight during the growing period.

a. 1.8

b. 2.0

c. 2.5

d. 3.5

9. The kneecap of a chicken or turkey is what bone?

a. Patella

b. Humerus 

c. Sternum

d. Coracoid

10. ____ refers to the general condition of the abdomen of a production hen.

a. Laying

b. Hips 

c. Finish

d. Handling Qualities

11. When evaluating broiler breeders for the deformity of severely crooked toe or toes, one or more toes must be turned at an angle of ___ ° or greater.

a. 30

b. 45

c. 60

d. 90
12. What is the name of the feather that separates the primary and secondary wing feathers?

a. Axial 

b. Hackle 

c. Sickle 

d. Saddle

13. Which of the following diseases is classified as a respiratory disease?

a. Cholera
     b. Aspergillosis
c. Cocccidiosis 

d. Necrotic Enteritis

14. What percentage of hatchability of settable eggs do broiler breeder operations strive to meet?

a. 65

b. 75

c. 85

d. 95

15. A broiler carcass that has one broken wing bone and over 1/3 exposed flesh on the breast is a USDA grade___.

a. A


b. B


c. C


d. No Grade

16. When a pullet begins producing eggs, the pigment in her body begins to fade.  How long does it take to bleach out the eye ring?

a. 0 to 2
 weeks

b. 2 to 2.5 weeks
c. 3 to 4 weeks

d. 5 to 8 weeks

17. When evaluating broiler breeders for future meat production, which of the following should not be taken into consideration?

a. Deformities
b. Sexual Maturity
c. Breast meat quantity
   d. Body conformation

18. During normal ovulation, the follicular membrane ruptures along the ____ to prevent hemorrhaging and blood spots in the egg.  

a. Ovum

b. Yolk

c. Ovary

d. Stigma
19. Which of the following hormone inhibits ovary functioning and stimulated broodiness in the female?

a. Follicle Stimulating Hormone

b. Prolactin


c. Tyroxin



d. Parathyroid Hormone

20. ___ are concrete or concrete block structures that is constructed outside the poultry house to collect settleable solids and to skim floating material from the flush water.

a. In-house pits   b. Settling Tanks    c. High-rise storage system
 d. Dry-Stack Storage System

21. Farmer Sherman had 72,519 six week old broilers loaded out from his three industry chicken houses.  During the growing period, Farmer Sherman experienced a total of 2,348 broilers that were lost due to mortality.  What was the six week mortality rate of Farmer Sherman’s flock?

a. 2.71%

b. 2.79%

c. 3.14%

d. 3.24%   

22. John David Crow, a hatchery manager, set a total of 185,000 eggs in his hatchery. Twenty-one days later 151,700 chicks hatched out and were sent to a broiler grow out facility, however, 2,458 were found to be infertile.  What was the hatchability for fertile eggs set?

a. 79.55%

b. 82.00%

c. 83.10%
d. 88.45%

23. A broiler processing facility processed a total of 285,485 chickens in one day of operation with an average live weight of 6.13 pounds per bird.  The average carcass weighed 4.58 pounds and yielded 1.19 lbs of breast meat.  What is the carcass dressing percentage for this day of operation?

a. 19.41%

b. 25.98%

c. 69.58%

d. 74.71%
24. A large commercial egg facility has 180,000 laying hens on sight with a 92% production rate.  If the producer expects a feed conversion per dozen eggs of 2.70 lbs of feed per dozen eggs, how much feed does the producer need per week?
a. 37,260

b. 260,820

c. 283,500

d. 486,000
25. Farmer Aggie produced 11,547 turkeys for market with an average weight of 21 pounds per turkey.  During the growing period, these turkeys consumed 627,464 pounds of feed.  What is the feed conversion for this flock of turkeys?

a. 1.89


b. 2.24


c. 2.47


d. 2.59
